4 8 F enc

i FE 2% i 2%

FEIHF T2
AC: R EEME 08: M8  RMiEH 10 BE (RAE) A BRpERE
AD: AT 18 3 i 5 28 i 5% 10: M10 2: HiE (PRE) N: FFfEE

12: M12 3: RiE (B

16: M16

20: M20

O
s 752 AR INBS IR T BE __ %kﬁ?&ié(kg\) *\%%}_}ET—.E‘EE m/s) TIERE(CC)
(mm) | 8ENm) | &(Nm/h) |ZEE | hEE [ {HFRE | oRi | hEE | KmE

AC0404 4 1.2 4300 0.3 1.2 2.5 2 1 0.5 -10~+85
AC0604 4 1.8 6480 0.4 1.8 5 2 1 0.5 -10~+85
AC0805 5 2 6800 0.5 2 6 2 0 0.5 -10~+85
AC0806 6 2.5 7200 0.6 2.5 6.5 2 1 0.5 -10~+85
AC1005 5 3 10800 1 3 7 3 15 0.8 -10~+85
AC1008 8 4 14400 2 4 9 3 1.5 0.8 -10~+85
AC1210 10 5 18800 5 10 30 3 1.5 0.8 -10~+85
AC1412 12 15 36000 8 50 100 3 1.5 0.8 -10~+85
AC1416 16 20 40000 10 70 150 3 15 0.8 -10~+85
AC1425 25 25 48000 12 80 160 3 1.5 0.8 -10~+85
AC2020 20 40 48000 30 200 | 700 3.5 2 1 -10~+85
AC2030 30 50 54000 30 200 | 700 35 2 1 -10~+85
AC2050 50 60 66000 60 400 | 1200 | 3.5 2 1 -10~+85
AC2525 25 80 60000 200 | 600 | 1000 4 2.5 1 -10~+85
AC2540 40 120 84000 300 | 800 | 1200 4 2.5 1 -10~+85
AC3660 60 250 125000 400 | 1500 | 2400 4 25 1 -10~+85
AC2550 50 98 98000 15 40 150 4 2.5 1 -10~+85
AC2580 80 150 127500 20 50 200 4 2.5 1 -10~+85

AC0404/AC0604/AC0805/AC0806/ACT005AC1008/AC1210

H Thread | H Thread I
R/ R S )
without cap with cap
° i c |
Stroke B E | Stroke B ‘
A-E A

6.23 “ www.emc-machinery.com



i E & 2R
1#‘ E-MC

AC1412/AC1416/AC1425/AC2020/AC2030/AC2050

Hﬁ; Thread ( W
(ZtEEHRk) (BfExL)
without cap ) ) with cap
. E _’Stroke_;_ B _‘
A 1
AC2525
[
L /Thread ﬁ H /Thread
D D

Stroke B ‘ E | Stroke B ‘
A-E A
( F¥EHRSL ) withoutcap (Gi&HL) withcap
AC2540/AC3660 AC2550/AC2580

D H \ Thread w H Thread L
Q¢ S
| E | stoke :_GL CB J | E ’ Stroke | ¢ B -
A A
Hg LA gN TS A B C D E F G H |
AC0404 M4x0.5 32.6 24.6 19.6 1.2 4 3 - 7 3
AC0604 M6x0.75 33.7 25.8 20.6 1.8 4 4.6 - 8 2
AC0805 M8x0.75 37.1 26.4 21.4 2 6 4.6 - 11 3
AC0806 M8x1.0 50 38 33 2.8 6 6.6 - 11 3
AC1005 M10x1.0 38.7 27.7 22.9 2.8 6 8.6 - 12.7 3
AC1008 M10x1.0 57 43 38 3 6 8.6 - 12.7 3
AC1210 M12x1.0 69.2 50 455 3 9.2 10.3 - 14 4
AC1412 M14x1.5 100.2 76.2 67 4 12 12 - 19 6
AC1416 M14x1.5 123 95 86 4 12 12 - 19 6
AC1425 M14x1.5 110 100 100 4 12 12 - 19 6
AC2020 M20x1.5 110 101 101 6 15.8 18 - 26 8
AC2030 M20x1.5 110 101 101 6 15.8 18 - 26 8
AC2050 M20x1.5 167 158 158 6 15.8 18 - 26 8
AC2525 M25x1.5 154.5 111 101 8 18.5 22 - 32 10
AC2540 M25x1.5 214 137 117 8 37 22 10 32 10
AC2550 M25x1.5 239 170.5 100 8 22 22 - 32 10
AC2580 M25x1.5 335.5 237 100 8 22 22 - 32 10
AC3660 M36x1.5 247 162 134 10 25 35 17 46 15

www.emc-machinery.com 6.24



B e
1772 A IRUL /N IR T RE BABXN ReiEt S (0
At (mm) £ER(Nm) B(Nm/h) Eh(kg) EE(m/s) LiFSECC)
AD1410 10 20 24000 80 3.2 -10~+85
AD2016 16 25 32000 200 3.6 -10~+85
AD2025 25 39 39000 312 3.6 -10~+85
AD2525 25 85 51000 400 3.6 -10~+85
AD2530 30 95 57000 480 3.6 -10~+85
AD2540 40 100 84000 700 3.6 -10~+85
AD3625 25 150 90000 1400 3.2 -10~+85
AD3650 50 300 108000 1400 3.2 -10~+85
AD4225 25 260 130000 3000 3.6 -10~+85
AD4250 50 500 155000 4000 4.8 -10~+85
AD4275 70 750 187000 6000 4.8 -10~+85
AD64050 50 12000 1560000 12727 1.6 -10~+85
AD64100 100 24000 1920000 18181 1.6 -10~+85
AD64150 150 36000 2520000 23636 1.6 -10~+85
SMERSTE
AD1410/AD2016/AD2025
|
H Thread | H : ”,Thveard |
‘:\ % 4 f=— ) - D \Y -
= (zawx) - @ = (EEEX)
| . without cap 7 C ] with cap
Stroke \_ B ‘ E ‘ Strokeﬂ}" B
: A
A-E |
AD2525/AD2530
H Thread [I H N Thread 1
w
| Stroke | B _E | Stroke | B
AE - A |
( &Sk ) withoutcap (BfEEHL) withcap
AD2540 AD3625/3650
D H Thread b H Thread !
X E Stroke . B ‘GJ N
E Stroke B

www.emc-machinery.com

6.25



i E & 2R
\*‘ E-MC

AD64050/AD64100/AD64150

Thread 276 Thread

Ho 7 Thread

@

G | [} - -
LE | Stroke L B J e Stroke | B
A A

FAg LGNS A B C D E F F H I
AD1410 M14x1.5 105.2 83.2 65.7 4 12 12 - 19 6
AD2016 M20x1.5 148.8 117 101 6 15.8 18 - 26 8
AD2025 M20x1.5 157.8 117 101 6 15.8 18 - 26 8
AD2525 M25x1.5 162 118.5 101 8 18.5 22 - 32 10
AD2530 M25x1.5 167 118.5 102 8 18.5 22 - 32 10
AD2540 M25x1.5 221.5 144.5 117 8 37 22 10 32 10
AD3625 M36x1.5 183 133 103 10 35.5 35.5 10 46 10
AD3650 M36x1.5 246 171 134 10 35.5 35.5 17 46 16
AD4225 M42x1.5 186 127.5 88 12 33.5 44.5 28.5 50 15
AD4250 M42x1.5 2455 157 117.5 12 38.5 44.5 28.5 50 15
AD4275 M42x1.5 301 187.5 148 12 38.5 445 28.5 50 15
AD64050 UNF21/2-12 247 146 26 20 51 59 23 76.2 | 9.4
AD64100 UNF21/2-12 347 196 26 20 51 59 23 76.2 | 9.4
AD64150 UNF21/2-12 467 256 26 20 61 59 23 76.2 | 9.4

www.emc-machinery.com 6.26



6.27

i FE 2% i 35— B 14

..... R R R,
e 2| A] B [c[D E F G| H
SCL1410 10 | 34| 18 |10 | 8 | M14x1.5 | M14x1.5 | 19 | 17
SCL1415 15 |39 23 [10] 8 | M14x1.5 | M14x1.5 | 19 | 17
SCL2016 16 | 48 | 305 | 12 | 12 | M20x1.5 | M20x1.5 | 25 | 22 i
SCL2020 20 | 51 | 335 |12 | 12 | M20x1.5 | M20x1.5 | 25 | 22
SCL2525 25 | 62| 40 |14 | 16 | M25x1.5 | M25x1.5 | 35 | 31
SCL2725 25 | 62 | 40 |14 | 16 | M27x1.5 | M27x1.5 | 35 | 31
SCL3325 25 | 69| 47 |15 [ 20 | M33x1.5 [ M33x1.5 [ 45 [ 40
SCL3625 25 1 69 47 [ 15 [ 20 [ M36x1.5 [ M36x1.5 [ 45 | 10
..... LI RN
s RY A E S MRS BE RY Al EL S PRSI
M8X1.0 M20X1.5
7 cEmm AC2020 AD2016
SCo8 o AC0806 SC20 3 E@ AC2030 AD2020
11 14 s 35 AC2050 AD2025
M25X1.5
MIOKLO ACT00S AC2525 AD2525
sc10 65_3 ‘ i AC1008 SC25 s l:@ AC2550 AD2530
127 16 32 Loas ] AC2580
M12X1.0
sc12 62 AC1210 SC36
14 20
M14X1.5 AC1412 AD1410
scia o AC1416 AD1425
8 AC1420
19 27 AC1425
..... R R R S
fidh=] RY A E S MRS HIAE ith=p R A EL S T RS HIAE
AD64050
F36 AC3660 F64 AD64100
AD64150
AD4225
F42 AD4250
AD4275

“ www.emc-machinery.com





